= AH O
N = 0 &8 AF S & Al A
20128 =4 2 3 Lot AL ~ A&
S A4
PSESRDNEe-D] =
Sl A8y A (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
A& 20,245,979 16,607,748 3,638,231
= 274,900 4,900 270,000
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01 Al &HI 156,000 114,000 42,000
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= SX2e 567,318 216,368 350,950
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— @AADH 17,000 0 17,000
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— W2 1,800 0 1,800
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01 A& HI 500,000 0 500,000
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= 5,664,000 5,664,000 0
= 5,850 5,850 0
= 645,400 564,400 81,000
= 3,126,900 2,698,878 428,022
=8t | 1,976,000 1,746,000 230,000
& 827,000 827,000 0
L= 141,500 141,500 0
= 1,007,500 777,500 230,000
SYIIBAIE &5 730,000 500,000 230,000
401 A& HIZ 2 CHYI 730,000 500,000 230,000
01 A& HI 730,000 500,000 230,000
ORAUE TS =2 MEXSAM 180,000 0 180,000
S &It S22 HEX SA 50,000 0 50,000
SE MEEA Fd 7,123,370 7,114,348 9,022
= 4,900 4,900 0
= 4,837,000 4,837,000 0
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401 AIEHIL 2OHYI 126,260 126,260 0
01 Al Hl 125,000 125,000 0
OEA Jt2s &X 0 17,000 A 17,000
OFzS ZHlAZ 0 15,000 A 15,000
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250,000 = 12804 32,000 0 32,000
SEMEEZFY| 868,571 868,000 571
& 608,000 608,000 0
= 260,571 260,000 571
401 Al EHIZL 20 Y| 868,571 868,000 571
= 608,000 608,000 0
= 260,571 260,000 571
01 Al Hl 863, 103 862,532 571
OssdasZd 863,103 862,532 571
= 608,000 608,000 0
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= 270,000 0 270,000
= 5,850 5,850 0
= 81,000 0 81,000
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St IHHl S LA 540,000 0 540,000
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= 81,000 0 81,000
i 189,000 0 189,000
401 A& HIZ 2 CHYI 540,000 0 540,000
= 270,000 0 270,000
L= 81,000 0 81,000
i 189,000 0 189,000
01 A& HI 540,000 0 540,000
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